Danfii Si5hsenss ‘ HVdraunCS

ME Low Speed High Torque Motor Shaft Seal Replacement

Repair Instructions

AX455958509501en-000101



Preparatory Work

Servicing in the field is confined to the replacement of the motor shaft oil seal and to renewal of the complete

motor unit. All servicing must be carried out in a clean working area, the motor is a precision hydraulic assem-
bly and must be treated as such. Any furtherdisassembly work beyond repairing the ME motor shaft seal may
result in a loss of product warranty. For more additional literature, visit www.danfoss.com.

Fig. 1. Motor Appearance

1. Preparatory Work

a) Choose a clean working
area. A parts storage box is
required.

b) Clean all tools and parts
required for the work prior
to the replacement.

c) Clean the exterior of the
motor.

d) Remove dirts and oils
attached on motor shaft
and oil seal area.

e) Wire-brush the paints on
the mating area of casing
or cover.

f) Remove the shaft key and
dress out scores, burrs
and sharp edges on key
groove.

g) Before disconnecting pip-
ings, clean the portarea.

h) All ports must be plugged
to avoid dirts.

End Cover

Fitting Bolt Fitting Bolt

2. Shaft Seal Replacement

MET00, ME150, ME175,
ME300, ME350, ME6OOA,
ME750A, ME850, MET300A,
ME3100, MK300, MK600

Stand the motor vertically
with shaft uppermost (see
the Figs. 2 and 3) and start
the disassembly following
the procedures described

below (the motor must be
placed securely);

2-A. Disassembling
Procedures

a) Unscrew and remove the
end cover bolts.

b) Place a screwdriver under
the lip of the end cover
and carefully lever the
cover out of the casing.

c) Using a driver, remove the
shaft seal.

d) Remove O-ring on the end
cover or on the casing
(incase of ME750A and
MES850).

e) During the works of b-d
above, shims placed on
the cup of taper roller
bearing might be taken
onto the end cover when
it is removed. Take care
that any of shims are not
lost.

f) Examine the seal running
area on the shaft and
dress out any scores with
a fine oil stone. During
this work, cover the motor
to avoid getting dirt into
the motor.

g) Dress out any scores or
burrs on O-ring groove, oil
seal housing etc.

h) Cleanse the removed end
cover, bolts etc. with
clean kerosene and dry
naturally or by a blower.

i) Take utmost care all
through the above work
that no dirt entersthe
motor because the end
cover is off.

End Cover

ME750A

2-B. Reassembling
Procedure

Clean the new oil seal and
O-ring and fit them in the
following procedure after the
old ones are removed.

(See Figs. 2 and 3.)

a) Fit the seal and O-ringon
end cover. In case of
ME750A and MES850,
O-ring is fitted into the
groove on the casing.

b) Grease the O-ring as fitted
and the lip of oil seal and
place the end cover on
the casing. Take care that
the seal lip does not con-
tact the edge of key
groove.

c) Fit the securing bolts with
washers and tighten them
to the torque designated.
The tightening torque and
bolt size for each more
size are listed in the Table 1.
Apply LOCTITE (#222 purple)
if available after degreasing
the bolt threads.



Table 1

NO. OF TIGHTENING TIGHTENING
MOTOR BOLT PART NO. BOLT TORQUE TORQUE
(kgf-m) Ibf.ft
ME100 Hex, socket head cap screw M 8x20  DWO0023A-020 4 3 22
ME150 Hex, socket head cap screw M 10x30 DWO0024A-030 8 47 34
ME175
ME300 Hex, head bolt M 10x30 DWO016A-030 8 47 34
ME350
MEG600A Hex, head bolt M 12x35 DWO0017A-035 8 8 58
ME750A Hex, head bolt M 12x30 DWO017A-030 8 8 58
ME850
ME1300A  Hex, head bolt M 12x25 DWO0017A-025 8 8 58
ME3100 Hex, head bolt M 14x35 DWO018A-035 12 13 %
MK300 Hex, socket head cap screw M 10x35 DWO0024A-035 16 47 34
MK600 Hex, socket head cap screw M 14x40 DWO0026A-040 16 13 A
Fig. 2. Fitting of End Cover ;
Oil Seal

ME100, ME150, ME175,
ME300, ME350, ME600A,

ME1300A, ME3100, MK300,

MK600

O-Ring

Shims

Section of End Cover

End Cover




Fig. 3. Fitting of End Cover
ME750A, ME850

3. Shaft Seal Replacement
ME1900, ME2600, ME4100

After the preparatory work
as described on page 2,
item 1is done, stand the
motor vertically with the
shaft uppermost.
Disassemble the motorin
the following procedure.

Qil Seal

Shims

Section of End Cover

End Cover

Eye Bolt

Fig. 4. Motor Appearance

Fitting Bolt

Bearing Housing

Tapped Hole for removal
of Bearing Housing
{2 x M10)

Dowel pin



ME1900, ME2600,
ME4100 cont.

3-A. Disassembling
Procedure

a) Unscrew and remove the
bearing housing, bolts and
seal washers. Make align-
ment marks on the bear-
ing housing to ensure re-
assembly in the same
relationship. (See Fig. 5)

b) Fit two M10 eyebolts into
the two threaded holes in
the bearing housing.
Attach a suitable hoist and
lift the housing squarely-
out of the motor casing.
Cover the motor with a
piece of clean cloth to
prevent dirt from entering
the body.

c) Using a driver remove the
shaft oil seal.

d) Remove the O-ring on the
bearing housing.

e) Take care that the bearing
cup and pre-load shims
are not disturbed during
this operation.

f) Examine the seal running
area on the shaft and
dress outany scores with
a fine oil stone.

g) Clean out the oil seal
recess and O-ring groove
and ensure any sharp
edges or roughness are
removed.

h) Cleanse, with clean
kerosene the removed
bearing housing and bolts,
dry naturally or by a blower.

3-B. Reassembly Procedure

Clean the new oil seal and
O-ring and fit them in the
following procedure.

a) Fit the oil seal and O-ring
on the bearing housing.
Take care that O-ring or
seal lip are not bruised.

b) Oil the seal lip and O-ring
and lower the housing
squarely over the shaft
and into the motor casing.
Take care that the seal lip
does not contact the
edges of the shaft key
way or splines. Use a
simple sleeve for this pur-
pose. (See Fig. 5)

c) Use new seal washers for
housing bolts and tighten
them. Take the following
cares in doing this work
(See Fig. 5):

(i) The bolts used differ in
each motor size, and
each bolt must be fitted
at the designated posi-
tion. The boltsizes to
be used and the
required tightening
torque is listed on page
6, in Table 2. The fitting
positions for each bolt
are shown in Fig. 6.

(ii) The tightening torque
must be confirmed on a
torque wrench.

(iii)Apply LOCTITE (#222,
purple) on degreased
bolt threads.

Fig. 5. Fitting of Bearing Housing

Qil Seal
.

| iy

/
T i
Bearing Cup Shims O-Ring
Section of Bearing Housing
Eye Bolt Bearing Housing
0O-Ring

Alignment Mark

f’._‘#-
!h—" ],____- Special Sleeve

(i)




ME1900, ME2600,
ME4100 cont.

Fig. 6. Bolt Locations

QOthers
M16 x 50 M16 x 55

ME1900

Others

M16 x 70

Others
M16 x 65 Mo 10

ME2600 ME4100
Table 2
NO. OF TIGHTENING TIGHTENING
MOTOR BOLT PART NO. BOLT TORQUE TORQUE
(kgf-m) Ibf.ft

ME1900 Special Bolt M16x55  T22117-003 6 14 101

Special Bolt M16x50  T22117-002 2 14 101
ME2600 Hex, head bolt M16x70  DWO019A-070 8 14 101

Hex, head bolt M16x60  DWOOT9A-060 4 14 101
ME4100 Hex, head bolt M16x70  DWO019A-070 8 14 101

Hex, head bolt M16x65  DWOOT9A-065 2 14 101




Required Parts
and Tools

A. Replacement Parts

The parts required for replacement are listed inTable 3. Seal
Kit No. is alsoin the Table. Please use Seal Kit No., when

you order parts.

Table 3
SEAL SEAL
OIL SEAL O-RING WASHER WASHER  SEAL
MOTOR PART NO. PART NO. PART NO. Q'TY KIT NO.
ME100 TCN40-62-11 IAG95 DZ2126A
DWO0050A-040 DWO0003B-095 DZ2126A
ME150 TCN60-82-12 IAG125 DZ2162A
ME175 DWO0050A-060 DWO0003B-125 DZ2042A
ME300 TCN60-82-12 IAG125 DZ2043A
ME350 DWO0050A-060 DWO0003B-125 DZ2044A
MEG00A TCN75-100-13 IAG145 DZ2046A
DWO0050A-075 DWO0003B-145 DZ2046A
ME750A TCN75-100-13 Special O-Ring DZ2048A
ME850 DWO0050A-075 T20160 DZ2050A
ME1300A TCN85-110-13 IAG195 DZ2138A
DWO0050A-085 DWO0003B-195 DZ2138A
ME1900 MHSA105-135-14  1/4x111/2x12  M16 8 DZ2054A
DWO0052A-105 DWO0005B-079 DWO0034A-16 8 DZ2054A
ME2600 MHSA120-150-14  1/4x121/2x13  M16 12 DZ2056A
DWO0052A-120 DWO0005B-081 DWO0034A-016 12 DZ2056A
ME3100 MHSA105-135-14  Special O-Ring DZ72057A
DWO0052A-105 DKO0018A DZ2057A
ME4100 MHSA135-165-14  1/4x15x151/2  M16 10 DZ2059A
DWO0053A-135 DWO0005B-086 DWO0034A-016 10 DZ2059A
MK300 TCN55-78-12 Special O-Ring DZ2060A
DWOO050A-055 DAO189A DZ2060A
MK600 TCN70-95-13 Special O-Ring DZ2061A
DWO0050A-070 DB0078A DZ2061A

 The quantity for oil seal and O-ring is one each.

« The seal materialfor the standard motor is nitriler

Please inquire with us in such a case.

B.Tools

- Torque wrench [capability
3~14 kgf-m (20-110Ibf-ft)
torque]

EyeboltM10 2 pcs.
Driver

Special sleeve (for
shaft) oo, preferable

Lithium grease
LOCTITE (#222, purple)
Hammer (copperhead)

Box wrench (for M10,
M12, M14, M16) or Hex
wrench (for M8, M10,
M14)

hh, h bt

In case p

ester is used as fluid viton seal must be used.



ENGINEERING

TOMORROW

Products we offer:

Cartridge valves

DCV directional control
valves

Electric converters
Electric machines
Electric motors
Gear motors

Gear pumps

Hydraulic integrated
circuits (HICs)

Hydrostatic motors

Danfoss Power Solutions is a global manufacturer and supplier of high-quality hydraulic and
electric components. We specialize in providing state-of-the-art technology and solutions
that excel in the harsh operating conditions of the mobile off-highway market as well as the
marine sector. Building on our extensive applications expertise, we work closely with you to
ensure exceptional performance for a broad range of applications. We help you and other
customers around the world speed up system development, reduce costs and bring vehicles
and vessels to market faster.

Danfoss Power Solutions — your strongest partner in mobile hydraulics and mobile
electrification.

Go to www.danfoss.com for further product information.

We offer you expert worldwide support for ensuring the best possible solutions for
outstanding performance. And with an extensive network of Global Service Partners, we also
provide you with comprehensive global service for all of our components.

» Hydrostatic pumps

»  Orbital motors

*  PLUS+1° controllers

e PLUS+1°displays

e PLUS+1°joysticks and
pedals

e PLUS+1° operator
interfaces

* PLUS+1°sensors

*  PLUS+1° software

e PLUS+1° software services,
support and training

« Position controls and
sensors

*  PVG proportional valves

» Steering components and
systems

e Telematics Local address:

Hydro-Gear
www.hydro-gear.com

Daikin-Sauer-Danfoss
www.daikin-sauer-danfoss.com

Danfoss
Power Solutions Trading

Danfoss Danfoss Danfoss (Shanghai) Co., Ltd.
Power Solutions (US) Company Power Solutions GmbH & Co. OHG Power Solutions ApS Building #22, No. 1000 Jin Hai Rd
2800 East 13th Street Krokamp 35 Nordborgvej 81 Jin Qiao, Pudong New District

Ames, A 50010, USA
Phone: +1 515 239 6000

Shanghai, China 201206
Phone: +86 21 2080 6201

D-24539 Neumlinster, Germany
Phone: +49 43218710

DK-6430 Nordborg, Denmark
Phone: +45 7488 2222

Danfoss can accept no responsibility for possible errors in catalogues, brochures and other printed material. Danfoss reserves the right to alter its products without notice. This also applies to products
already on order provided that such alterations can be made without subsequent changes being necessary in specifications already agreed.
All trademarks in this material are property of the respective companies. Danfoss and the Danfoss logotype are trademarks of Danfoss A/S. All rights reserved.




